| total events O=anylnput 8=anyAccept | Entries 14085 | L2 time used per input event Entries 428060

-------- P e e e Mean 1.774 o T T T T T T Mean 70.32

(2]
= : : : : : :
RMS 2.605 8000 il g e e e e SN RMS 11.98
- - ey N N N N N N -
>

10000+ e

..............................................................................

0000 -

- R o - 6000}

4000

2000 |-} G s v ———

PR BV R Ollllilllll IlilIIIiIIIIiIIIIiIIIIiIIII

0 1 2 3 4 5 6 7 8 9 0 50 100 150 200 250 300 350 400
Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd x: time (CPU kTics)

|rate of input events Entries 11133 4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 839
Mean 176.7 Mean 176.8
RMS  86.83 RMS  90.14

45

40

y: rate (Hz)
y: rate (Hz)

35

i s o oo oo

] e e e e

20 D— T— A— A— 1

S T — S S -

10f B
1T 1 T A IO 5L N AN A

T | 1 Ll o Ll 1 i 1 1 o 1 Lol 1

0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500
X: time in this run (seconds) X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

16 eemamamamaaaaa eemamamaapaanann eeeaageamaaaaan eeeeamamamaaaaga Meeaeamamaaaaan Meeemaaaaaan
14 et e daaaas R —— E
10 e

soft=1+

o m &
'||||
L]

soft=801+

soft:2401+i

BTOW tower, Et>2.0 GeV (input)

%o
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

crate=1

o

grcrate

crate=2

x: i=chan+128*crate

crate=3

x: i=chan+128*crate

crate=4

x: i=chan+128*crate

crate=5

x: i=chan+128*crate

crate=6

=chan+128+crate




BTOW tower, Et>2.0 GeV (input)

Entries

4264

BTW-East

N
o

‘
]
i

o
o

iR~sectof
\

I'.’.,
1
!

b

............................................

o
IIIII
I I
IIIII
]|
T

|

r II fll

b

i

-
-

BTW-West

;
e Ry
f
LA
Ilr
!

'I

;

i

i

irh
p

L

III

25 30 35
X: eta bin, [-1,+1]

40

N
o

14

12

10

Entries 2515

=
00)

12

x: 12 - Endcap etaBin ,[+1,+2]




Et Jetl-Jet2 (input) |

Entries 11133

> 12 Igoo
o L
v : : : : 800
N 10— P A ARy P A AL L b
5 : 5 5 5
- L 700
R St S S —600
R 500
6_ ..................................
C —400
R S 300
200
2 ........
100
0 0
0 2 4 6 8 10 12

|diJet phil-phi2 (input) |
30

y: iPhi2 ~sector
N
Ul

20

x: Jetl Et/GeV

|diJetl eta-phi (input)]
30 ==

y: iPhi ~sector

Entries 11133

90
80
70
60
50

40

30

x: iPhil ~sector

|diJet2 eta-phi (input)|

w
(=]
1

N
(&2}

y: iPhi ~sector

20

15

10

Entries 11133

BTOW-West| Endcap

40

20

6 8 10 12 14

x: iEta [-1,+2]

BTOW-West| Endcap

250

200

qlso

100

50

6 8 10 12 14
X: iEta [-1,+2]



Jetl Et (input)

10

Entries 11133
Mean 5.367
RMS 2.055

0 10 20 30 40 50

60
x: Et (GeV)

Jet2 Et (input)

Entries 11133

10

102

10

Mean 2.233
“IRMS 1.303

300

250

200

150

100

50

Entries 11133

a0 T Mean 31.61
E : = 5 : = : " |RMS  13.94
N = A T I T
0 20 40 60 80 100 120 140 160 180 200

x: # of towers/event

# ETOW towers>ped+8 (input) |

450

400

350

300

250

200

150

100

50

Entries 11133
Mean 18.86

RMS  11.12

j i o
0 10 20 30 40 50 &0 70 80

i
90 100

x: # of towers/event

60
x: Et (GeV)

Entries 11133

10°

102

10

—|Mean 18.04

:{RMS  5.285

60
x: Et (GeV)



pted)

D TUYV

Entries 839

6 8 10 12

14

x: iEta [-1,+2]

one-Jet Et (accepted)| Entries 839 one-Jet eta-phi (acce
= 30 = . - -
S
0
?
=
102 bt b -
10
1
0 50 80 0 2 4
X: jet Et (GeV)
one-Jet phi (accepted)| Entries 839 one-Jet eta (accepted)|

50

5 10 15 20 25 30
x: iPhi ~sector

120

100

80

60

40

20

Entries 839

2

4

6 8 10 12

14

x: iEta [-1,+2]



Et of Jetl vs. Jet2 (accepted Entries 702 diJetl eta-phi (accepted Entries 702
| ( pted) | 5 p - ( pD.Jl’\/-West‘ Endcap

> 12 T T T - 30 = -2 :

§ :

g L

B T RRISITI ISR S RN el WL e e

y: iPhi ~sector

2 A A R AR A | [ i 0 BMEAS T
0 I
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted) | Entries 702 |diJet2 eta-phi (accepted) |’\/ Entries 702
DTUYV

30

y: iPhi2 ~sector
N
[§)]

N
o

10

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



702
8.365

702
8.692

|diJet Et (accepted)| Entries |diJet eta (accepted)| Entries

—|Mean Mean

RS 2ses| b E o [T [Rws a0
102 ;:_:':;::'-.' clE B : : : : . :

Fi [ e ] SRS S e R R e

[t M) — H|gh Etjet --------------------- e o —High Etjet |-+—}-—i-

Low Etjet

T

10

x: Et (GeV)

0 10 20 30 40 50 60

--- Low Etjet

1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14
x: i Eta[-1,+2]

Entries

r . . . . . Mean

S o e e [

702
15.17
8.816

30 AR b o

1Y MU .00t A I SECTRRRN SURRRRNRN o SNEUOCI UURRUE-N rnunr SOvenl 8 B8 AN e I

— High Et jet
--- Low Et jet

1] E S e |_|. ----------- SR
- : : 5 L :

10

20F

....................................................................................

0 5 10 15 20 25 30

x: iPhi ~sector

702
31.09
5.759

Entries

|di.]et delZeta (accepted)|

Mean

80 RMS

8 S S T s
9 S S W T
U I I —
S T —
SSCENRNNR WORUROE NN O N N SO S
e e

0 i 1 i 1 11 1 i 11 1 1 11 i 1
0 10 20 30 40 50 60
x: delta zeta (rad*10)




Entries

x: iEta2 [-1,+2]

Mean x
eany

12 14
x: iEtal [-1,+2]

. Entries 702
|d|Jet delZeta vs. etal (accepted)| oy g 6o
P~ - " " " " " Meany  31.09
e R s i
k] r : : : : : :

g r 5 5 5 5 5 :

G 5[ —-s .....

A — R ; 5 | —10

NoOp e — — = ==
S 40 o e+
>

30

20 j SETIT S

: : —— :
— _—
10_ """"" R RRREREEEED P e _ """ [ EEEEE R _ 2
0_| L1 | 111 | 111 | L1 | 111 | 111 | 11 | 1 O
0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

H H Entries 702
|d|Jet delZeta vs. avrPhi (accepted)| Vi
5 -{Meany 31.09
= :

g 9

] 8
[}
N

8 7
o

° 6
>

5

4

3

T T e e 2

1

1O

5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

30

|total Et diJet (accepted)]

702
8.692
8.254 |

Entries

50

40

30

20

10

0 10

702

22.9

:|Mean

..................................................................................
.................................................................................
..................................................................................

Mo

50 60
x: Et (GeV)

20 30 40



|Et of Jetl vs. Jet2 (accepted EE)| Entries 127 |diJetl eta-phi (accepted EE)| Entries 127
" 20 RTO\/\I I:;'-IQf D TOUvVV-vVvVE Endcap 3
% 40 5 T F ! ! z :
o t 5 T : :
N : : : : 9 - : ]
LRET] E S P S e 35 T ash b b ... - - 25
. : : : : g N -
30 T C : ]
T 20F e SRR e . 2
| 25 :
: - — :
: 20 15_— ----------------------------------------------------------------- o [ 1.5
: 15 - i
: L0 SRCIRSCIISE SOTYE NUPS [EISIS SR te) Repesees - ----- 1
10 C - :
5_— """""""""""""""""""""""""""""""""" - """ "_ 0.5
: 5 - s
0 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 i 1 1 1 O 0_ 1 1 1 i 1 1 1 i 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted EE)| Entries 127 [diJet2 eta-phi (accepted_ EE)| | Entries 127
30 ) 30 RTO\AI pan D Tovv=vvesSt Endcap
= 5 —
[e] 8 -
5 o T
9 1.8 @ C
) S L] O S O S SO N
o 16 £ °F
3 s F
5 14 > 0] I S SRR IR S S
1.2 -
1 15:— """""""""""""""""""""""""""""""" 2000
0.8 E =
10— -----------------------------------------------------------------
0.6 -
0.4 5:_ ________________________________________________________________ —
0.2 - .
: : : r : : : : : -
0 1 1 1 1 I 1 1 1 1 1 1 1 1 I 1 1 1 1 0 O_ 1 1 1 I 1 1 1 I 1 1 I 1 1 1 I 1 1 1 1 - 1 1 1 I 1
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector

X: iEta [-1,+2]



|diJet Et (accepted EE) |

10 —High Et jet

Low Etjet

1.

- Mean

' |RMS

Entries 127
5.366

1.213

10

o

20 30 50

X:

60
Et (GeV)

|diJet eta (accepted_EE)| Entries 127
C —Mean 12.95
7o) I SRR AR SO SRR SO LoIRMS  1.202
P3RS SR NS R S — ded
B0 —High Et jet —i ---------- e
C --- Low Et jet L T
25 EES S S— T SO U [osus OO
1] e b e
L LILJLJEUiU...i...i.

12 14

x: i Eta[-1,+2]

|diJet phi (accepted EE)|
s

oyl — H|gh Et jet
Ll |--- Low Et jet

(63}
TTTTYTTTT

IN
N

Illll

Entries 127
Mean 13.28
RMS  8.752

25

30

x: iPhi ~sector

Entries

12

10

O

0 30

B . . . . . Mean

RMS

127
31.88
8.224

Y

40 50 60

x: delta zeta (rad*10)




H Entries 127 H Entries 127
|d|Jet delZeta vs. etal (accepted EE) | oy el |d|Jet eta2 vs. etal (accepted_EE)| yeanx 1209
5 F Meany 3188 = : —BTOW— eany 1299
L + 14— TR SRR R SR
T F 45 S 1 5 5 5 5
\CES/ 50— 4N§ 12 ------------ ----------- ----------- ------------------------------------- £ na&gp
o T F T 5 5 5 5
N L - —]
NOE S r 14
= B 10
T 401 - —12
-or N
- S R e 610
30— C B{R&\W
L 6__ .................................................................................... —18
20f— - —6
- 4_— """"""""""""""""""""""""""""""""""""""""""""""""""""""
C C 4
10— S U SOURUURS SURUPUUOOE SUPUUOPUN SUNPURUREY ISSURURIO: SOSORS SO
L ; ; ; ; : r ; ; ; 2
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZetavs. avrPhi (accepted_EE) | l\E/gfi v |total Et diJet (accepted_EE)| Entries 127
— M
S S Y SLEs F ! ! ! ‘|Mean 1822
5 : . '
e e esnad e 5 e e || s s S S
N E RO SR w0 T I s ke eennns —2.5
© =
o : I N S N S AR
N
L e e e B B
= —2
©
-

1O 5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

| 15

0.5

30

0L
30

i 1 1 1 1 i 1 1 1 1
40 50 60
x: Et (GeV)

20




|Et of Jetl vs. Jet2 (accepted_EB)|

Entries

>
)

Jet2/G

12

10

10 12
x: Jetl/GeV

|diJet phil-phi2 (accepted_EB)|

155

diJetl eta-phi (accepted EB) oe Entries 155
_ a0, BTOW-East] D20V 4
o - : : : :

3 : : : :

(] B N

(%] - N

] S e IR ———

g r -

Y ) SRR RSN SN I TR
15[ e .. O
T SISt SRSt RS g T
RO SRR SO N S
0_| 1 | 111 | 1 1 | 1 |

0 2 4 6 8 10 12 14

x: iEta [-1,+2]

Entries

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5

10 15 20 25 30
x: iPhil ~sector

|diJet2 eta-phi (accepted_EB)|

Entries 155

y: iPhi ~sector

est| Endcap

D TUVVEVV

30

N
(&2}

20

15

10

BTOW-East

4

o

2 4

12
X: iEta [-1,+2]

14



|diJet Et (accepted_EB)|

10

-.[— High Et jet
~|--- Low Et jet

Entries

—1Mean

-{RMS

155
7.616
1.545

|diJet eta (accepted EB)] Entries

30

50

60

x: Et (GeV)

Mean

155
11.16
1.643

RMS

-------- ~t~[High Et jet
: : --- Low Et jet

2 4 6 8 10 12 14
x: i Eta[-1,+2]

— High Et jet
--- Low Et jet

Entries

—|Mean
. [RMS

155

14.71
9.134

|diJet delZeta (accepted EB)] Entries

--i--o--|--r--r--i---l---l--1--1--

25
x: iPhi ~sector

30

;_ N Z=ph i(J 1J 2)*1s n( '

O N A~ O

155

---------- P Mean  31.64

e b b S bt IRMS 5,828

...................................................................................

................................................................................

..................................................................................

10 20 30 40 50 60
x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted_EB)|

Entries
Mean x

y: delta zeta (rad*10)

60

50

40

30

20

10

Mean y

155
11.16

31.64

0

2
1
0

0 2 4 6 8 10 12 14

x: iEtal [-1,+2]

|diJet eta2 vs.

etal (accepted EB)]

Entries

Endca

x: iEta2 [-1,+2]
T

14— e :

mean X
eany

I

15N
O

0
|

Olllilllilllilllilll

11.16

0 2

6 8 10 12 14
x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EB) |

Entries

y: delta zeta (rad*10)

Mean x

Mean y

155
14.47
31.64

35

—3

1O

5 10 15 20 25 30

x: (iphil+iphi2)/2 (12 deg/bin)

155

11.11

Entries

ltotal Et diJet (accepted EB)|

16—

14—

12—

10—

155

21.1

:|Mean

...................................................

...................................................

20 30 40 50 60

x: Et (GeV)



D TUVVEVV

|Et of Jetl vs. Jet2 (accepted BB)| Entries 489 |diJetl eta pted BB)

> 12
q) -

Jet2/G

10

y: iPhi ~sector

2 -
0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted BB)| Entries 489 |diJet2 eta-phi (accepted_BB) Entries 489
_ D TUVVEVV

30

y: iPhi2 ~sector
N
Ul

y: iPhi ~sector

N
o

15

10

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted BB)| Entries 489
e A SO JMean  9.422

10 =

{RMS 2,901

— H|gh Etjet
--- Low Et jet

................................

.........................................

40 50 60
x: Et (GeV)

|diJet eta (accepted BB) |

60

50

40

30

20

10

Entries 489
Y T Mean 7.216
- L |Rvs 3667
- R IO e L N D
St I I e B e e
e — High Et jet N
- ---LowEtjet |
e .
:IllillIilllilllilllilllilll -T-

o

2 4 6 8 10 12

14

x: i Eta[-1,+2]

Entries 489

25

15.81
8.686

—|Mean

i [RMS

||[— High Et jet
--- Low Et jet

0 5

10

15

20 25 30

x: iPhi ~sector

|diJet delZeta (accepted BB)]

70

60

50

40

30

20—

10

......................................................................

Entries
Mean
RMS

489
30.69
4.596

l_||-|_|l_i_|llllil

30

40 50

60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted BB)] mhies 299 |diJet eta2 vs. etal (accepted BB)]
S _F —(Meany 30.69 = - A

‘—| o

£ T L e B R
= [ ; ~

B B0t e — i —8 S qof—--i....

@ : w

o

©

c

Entries

Endca

eran X

7.216
6.527

eany

B : : : : : : A RS e B
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZetavs. avrPhi (accepted_BB) | fﬂl‘;ﬁi 14422 |tota| Et diJet (accepted_BB)| Entries 489
=~ M
g LAY 3089 i TlMean 2462
c 45
ie)
©
~ 40 -----------------------------------------------------------------------------------
o
N ] e s PP
8
8 10 ) SO I D I OO SO
5
1<) RSSO SRS 1 SO A SR S SO
70 St S SO At S S SO
15 ................................................................................
10 ..............................................................................
1 S USUUUON SOUU NSO SO SO SO SO e

1 1 1 1 i 1 11 1 i 1 1 11 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
10 5 10 15 20 25

x: (iphil+iphi2)/2 (12 deg/bin)

30

489

S
50 60

x: Et (GeV)

20 30 40



